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1p 31 Which of the following would be the most fitting subtitle to this fragment? 
A A shoplifter caught in the act  
B Never hinder a woman on a spending spree 
C Racially profiled in the deodorant aisle 
D The stress of tax-free shopping 
 
 

Tekst 9  Why Orwell’s 1984 could be about now 
 

1p 32 What can be concluded about Orwell from paragraph 1? 
A He foresaw how paradoxical tendencies would change world politics. 
B He realised that dictators thrive best when there is some resistance. 
C He thought that his dystopian narrative would one day become reality. 
D He understood full well the machinations of oppressive governments. 
 

1p 33 How is 1984 presented in paragraph 2? 
as a work of fiction that 
A can be used to recognise whether a society is moving towards an 

authoritarian state of affairs 
B gives practical advice on how to retaliate against authoritarian 

transgressions in troubled times  
C is an astute personal reflection on the authoritarian tendencies that are 

unhinging civilisation today 
D should be appreciated for its artistic merits rather than its presentation 

of authoritarian politics 
 
‘The book defines the peculiar characteristics of modern tyranny.’  
(alinea 3) 

1p 34 Welke alinea is de laatste alinea waarin een van deze eigenschappen 
wordt genoemd? 
Noteer het nummer van deze alinea. 
 

1p 35 What is the main point made about our present society in paragraph 3? 
A The networks that shape it are aimed at destabilising social cohesion. 
B The propagation of fake news is turning it into an unsafe environment. 
C The use of algorithms is violating the constitutional rights of its 

citizens. 
D The way it is governed is threatened by the use of digital technology. 
 

1p 36 Which of the following fits the gap in paragraph 4? 
A the intrinsic frailty of loyalty 
B the longed-for upheaval in society 
C the strong wish for exoneration 
D the willing collusion in hate 
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1p 37 Which of the following fits the gap in paragraph 5? 
A aims to explain the ideals of 
B has exposed the inconsistencies between 
C is rooted in the struggles between 
D tries to right the wrongs of 
 

1p 38 Which of the following headings fits paragraph 6? 
A How to turn debate into a tool of demolition 
B Lexicon as a means of control and coercion 
C The grand-scale obliteration of dissidents 
D When dictators resort to emotional blackmail 
 

1p 39 Which of Orwell’s character traits are especially stressed in paragraph 7? 
A his aloofness and superiority 
B his altruism and diligence 
C his integrity and authenticity 
D his righteousness and tenacity 
 
 

Tekst 10  Dyer situation 
 
‘Dyer situation’ (titel) 

1p 40 Welk woord in deze brief benoemt de vorm van onrechtvaardigheid waar 
deze titel naar verwijst? 
Citeer dit woord. 
 
 

Tekst 11  A New Approach 
 
‘A New Approach’ (title) 

1p 41 What would this ‘new approach’ come down to, according to the text? 
A reconstructing the relationship between the general public and law 

enforcers 
B redirecting the focus of communities from social division towards racial 

equality 
C re-examining the influence of government leaders on the 

implementation of regulations 
D repairing the detrimental effects of controversial and complex 

legislation 
 
 
Let op: de laatste vragen van dit examen staan op de volgende pagina. 
 


